

## **Bullitt County Public Schools**

1040 Highway 44 East Shepherdsville, Kentucky 40165

502-869-8000 Fax 502-543-3608 www.bullittschools.org

TO:

Jesse Bacon, Superintenden

FROM:

Rachelle Bramlage-Schomburg, Director of Secondary Schools

DATE:

August 15, 2018

RE:

Textbook Plan

Please place the attached plan for Bernheim Middle School for approval on the August Board Agenda. Director of Secondary Education and Assistant Superintendent, Adrienne Usher have reviewed this plan.

Thank you.

#### **COVER PAGE**

School Name <u>BERNHEIM MIDDLE SCHOOL</u>

School Number 005

District Number <u>071</u>

Grades 6-8

Enrollment 475

Adoption Cycle 2018-2019

Content Area(s)

MATH

LANGUAGE ARTS/READING

SOCIAL STUDIES

**SCIENCE** 

Names and titles of persons responsible for the development of the plan:

KATIE STEPHENS- PRINCIPAL

AMY BUSH- INSTRUCTIONAL COACH

APRIL WATKINS- TEACHER

JIMMY CARNES- TEACHER

MAEGAN TEPE- TEACHER

# DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor

Carolina Biological Supply Company

2700 York Road, Burlington, NC 27215-3398 • 800.334.5551

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
SEE ATTACHED LIST				2,102.00
			Subtotal	2102.00
		** Estima	ated Freight	\$210.00
			<b>Total Cost</b>	\$2312.00

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.



# **Your Shopping Cart**

ITEM INFORMATION		ITEM PRICE	QTY	TOTAL
	Digital Pocket Thermometer #745360	\$19.95	12	\$239.40
and a second	In stock & ready to ship Shipping: Standard Ground			
	OHAUS Compact Portable Electronic, Scales, Model CS-200, Cap 200g x 0.1g #702215	\$140.00	8	\$840.00
	In stock & ready to ship Shipping: Standard Ground			
	Typical Animal and Plant Cells Microscope Slide Student Set #292112	\$24.50	6	\$147.00
	In stock & ready to ship Shipping: Standard Ground			
				·
	Beginner's Human Tissue Microscope Slide Set #311968	\$136.00	1	\$136.00
	In stock & ready to ship Shipping: Standard Ground			
	Wave Demonstration Set #754100	\$46.95	8	\$375.60
	In stock & ready to ship Shipping: Standard Ground			
	Spring, Metal, Large (Giant Slinky®) #754095	<b>\$12</b> .75	8	\$102.00
	In stock & ready to ship Shipping: Standard Ground			
	Electromagnet Kit	\$32.75	8	\$262.00



In stock & ready to ship Shipping: Standard Ground

Apply a Promotional Code

enter promo code

apply code

Subtotal:

\$2,102.00

#### DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor Flocabula	M
------------------	---

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
FLOCABULARY SUBSCRIPTION	Catalog I value	96	2	\$192.00
	<del></del>		Subtotal	\$192.00
		** Estima	ited Freight	\$0
			<b>Total Cost</b>	\$192.00

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.

#### Purchasing Plan

Date August 13, 2018

School Name <u>BERNHEIM MIDDLE SCHOOL</u> School Number <u>005</u>

## DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor

Scholastic Inc. • P.O. Box 3710 • Jefferson City, MO 65102-9957

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
JUNIOR SCHOLASTIC		8.49	30	\$280.17
SCIENCE WORLD		9.49	90	\$854.10
SCOPE		9.99	30	\$299.70
MATH		8.49	60	\$509.40
			Subtotal	\$1,943.37
		** Estima	ited Freight	\$137.85
			Total Cost	\$2081.22

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.

School Name BERNHEIM MIDDLE SCHOOL School Number 005

#### DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor

STENHOUSE

282 Corporate Drive, Suite 1, Portsmouth, NH 03801

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
SEE ATTACHED LIST	RESOURCES			\$241.00
			Subtotal	\$241.00
		** Estima	ited Freight	0.00
			<b>Total Cost</b>	\$241.00

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.

•						
Your	Cart					
(tem			item#	Price	QTY	Subtotal
-	"Why Won't You Just Tell Us the A	nswer?"	WEB-0812	\$22.00	2	\$44.00
<b>6</b>	Print				LJ	remoye 🗐
	•			-		
<b>3 1</b> 12	Nonfiction Mentor Texts Lynne Dorfman and Rose Cappelli		WEB-0496	\$24.00	2 ^	\$48.00
	Print				L `	remove @
TEACHING GLEJALLY	Teaching Globally Kathy Short, Deanna Day, and Jean Schroeder		WEB-0792	\$28.00	2 ^	\$56.00
8	Print				L	remove 🗐
J. N.	Caring Hearts & Critical Minds		WEB-0859	\$25.00	2 ^	\$50.00
	Steven Wolk Print					remove 📵
F. VE 'ME.	rint					(AttrovA
7	Eyewitness to the Past		WEB-0497	\$21.50		\$43.00
	Joan Brodsky Schur				2 ,	
	Print					(emove 🖻
Enter D	Piscount Code	APPLY				UPDATE CART

Estimated Total: \$241.00

Shipping and sales tax calculated at checkout.

← CONTINUE SHOPPING

Your shopping cart has been updated.

**←** CONTINUE SHOPPING

CHECKOUT

Need a Purchase Order?

Click Checkout to create a Purchase Order with the items currently in your cart!

Date August 13, 2018

School Name <u>BERNHEIM MIDDLE SCHOOL</u> School Number <u>005</u>

#### DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor

SECOND STEP

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
MIDDLE SCHOOL PROGRAM	6-8	2,499.00		\$2,499.00
				\$2,499.00
		** Estima	Subtotal ated Freight	0
			<b>Total Cost</b>	\$2,499.00

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.





My Dashboard

Programs **▼** 

Help

## Cart

Online ordering is currently only available for US and Canadian billing and delivery addresses.

Please call us or submit a purchase order for all other countries.



Product:

Second Step Middle School Program: Schoolwide Grades 6-8 License - 1-Year

Schoolwide License

Price:

\$2,499.00

Quantity:

Total:

\$2,499.00

#### Country

United States (US)

State/Province \*

Select an option...

Postal Code \*

#### DETAILED PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS

One completed form for each vendor or use a copy of the purchase order

Vendor

IXL LEARNING

777 MARINERS ISLAND BLVD SUITE 600

SAN MATEO, CA 94404

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
IXL SITE LICENSE 6-8 MATH & ELA				6,000.00
			Subtotal	6,000.00
		** Estima	ited Freight	0
			Total Cost	6,000.00

<sup>\*</sup> Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

<sup>\*\*</sup> State bid prices do not include shipping costs. A good estimate of freight is 10%.

## **BUDGET SUMMARY**

Revenue:

Current State Allocation \$9,147.00

Carry-over funds \$0.00 (becomes carry-over on July 1)

Total State Monies \$9,147.00

Projected Cost for:	Categories
Textbooks	\$0.00
Instructional Materials	\$9,147.00
Rebinding & Replacement	\$0.00
TOTAL EXPENDITURES	\$9,147.00

School Name	BERNHEIM MIDDLE SCHOOL	School Number	005
	=======================================	Somoof Francos	000

# STATEMENT OF ACCOUNTABILITY

We, the undersigned, certify that this Textbook/Instructional Material Purchasing Plan implements the Kentucky Core Academic Standards for the 2015-2016 adoption cycle.

implements the Kentucky Core Academic Standards	s for the 2015-2016 adoption cycle.
School Council Members' Signatures:	Ali the
Augus III	
Sehool Council Chair	<u>S-73-78</u> Date
The cost of this plan is within the appropriation for t	
School Board Chair	Date
In the absence of a school council, certifies that this Textbook/Instructional Material Pu Kentucky Core Academic Standards for the 20 of this plan is within the appropriation for this school	adoption cycle. The cost
School Board Chair	Date
School Board Secretary	——————————————————————————————————————